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Math 113 - 101 - Quiz 4

CALCULATORS MAY BE USED.
If you do not have a calculator you should write your solutions as the expression you would put into your
calculator to obtain your final answer.
Work to 2 decimal places.
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1. Complete the table (working to 2 decimal places.):
| Arc length s | Radius r | Angle @ (radians) | Angle 8 (degrees) |

31t 5t %:.Oé’g; EL(,,?C?D 8:% L t
cm g 7] Ceql
® 3 | B=0-t2 » =% ey
< 0
(,/(IQQ @: ’\? i for(}{:‘m = Lg"Q
‘(9 — %o V‘&vdL(\pt,,S

2. The earth has a radius of 4000 miles. Given that the earth completes one revolution every 24 hours, find
the linear speed of a point on the equator in miles per hour. (Work to 2 decimal places.)
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3. A water wheel has radius 12 f. A river passing through the water wheel turns it at a rate of 14 revolutions
per minute.
a) Find the speed of the river in feet per minute. (Work to 2 decimal places.)
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b) Given that there are 5280 feet in a mﬂe, find the speed of the river in miles per hour.
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4. An airplane flies 200 km from an airport in the direction of 250°. How far west of the airport is the
airplane then. (In navigation degrees are measured clockwise from north.)
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